
Section 4.2 

 

 

1a) 

 

1b)  𝑦 = 2.43𝑥 + 2.86  1c)  𝑟 = .95  1d)  very strong 

1e)  𝑦 = 27.16 

3a) 

 

3b)  𝑦 = −6.46𝑥 + 37.14 3c)  𝑟 = −0.91   3d)  very strong 

3e) 𝑦 = −27.46 

  



5a) 

 

5b)  𝑦 = −7.5𝑥 + 48.57 5c)  𝑟 =  −0.41  5d)  𝑚𝑜𝑑𝑒𝑟𝑎𝑡𝑒   

5e)  𝑠𝑘𝑖𝑝, 𝑛𝑜𝑡 𝑎 𝑣𝑒𝑟𝑦 𝑠𝑡𝑟𝑜𝑛𝑔 𝑟𝑒𝑙𝑎𝑡𝑖𝑜𝑛𝑠ℎ𝑖𝑝 

7a) 

 

7b) 𝑦 = 756.1𝑥 + 8560  this would be better  𝑃(𝑡) = 756.1𝑡 + 8560 

7c)  very strong  7d)  see above  7e) 46,365 thousand tons 

  



9a) 

 

9b)  𝑦 = 117.35𝑥 − 28.67  𝑜𝑟 𝑏𝑒𝑡𝑡𝑒𝑟 𝑈(𝑟) = 117.35𝑟 − 28.67 

9c)  very strong relationship 

9d)  see above 

9e)  910 𝑢𝑚𝑏𝑟𝑒𝑙𝑙𝑎𝑠 

 

 


